Virginia High School League

Scholastic Bowl, 2001-02 season

District Competition, Match #11

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Bryce Avery are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
THIS IS A COMPUTATION QUESTION. Take a rhombus ABCD. Draw a diagonal from A to C and another diagonal from B to D, meeting at O. The measure of ABO is 40 degrees. What is the measure of angle BAO, remembering that the diagonals of a rhombus are bisectors of the internal angles of the rhombus?

ANSWER: 50 degrees (angle ABC is 80 degrees, and thus angle BAD is 100 degrees.)

2.  Also used in food products as a thickening agent, which jellylike carbohydrate obtained from seaweeds is used in biological experiments as a culture medium for growing fungi and bacteria?

ANSWER:  AGAR
3.
What seven-letter word starting with “C” can mean either something of varied origin, or an monster created by an over-active imagination, and comes from the name of a Greek mythological monster?

ANSWER: CHIMERA
4.
With a name derived from the Irish Gaelic for “small body,” which fairy shoemaker protects a hidden treasure, usually a pot of gold, as opposed to “lucky charms?”

ANSWER:  LEPRECHAUN
5.
Originally she was a temperance activist, founding the Woman’s State Temperance Society of New York. She also was active in the abolitionist movement, but was most famous for her work in women’s suffrage. Who is this women who tried to register and vote in the Rochester city elections in 1872 and was later featured on a short-lived dollar coin?

ANSWER: Susan B. ANTHONY

6.
What psychological term describes the perception, sense or “feeling” one has as being either male or female?

ANSWER: GENDER IDENTITY
7.
Who wrote the play, Long Day’s Journey Into Night?

ANSWER: Eugene O’NEILL
8.  
In 1266 Pope Clement IV sponsored this philosopher’s compendium of all branches of knowledge, known as the Opus Majus.  Also a scientist who may have invented the magnifying lens, what Englishman was known as Doctor Mirabilis, or “Wonderful Teacher?”

ANSWER:  Roger BACON
9.
A test fuel used to determine a fuel's rating is given a value of 100 for this rating. What is this number that indicates how much an engine will "knock", and is generally higher for premium and super unleaded gasoline?

ANSWER: OCTANE rating

10.
THIS IS A COMPUTATION QUESTION. What is the length of the two legs of a right triangle with a hypotenuse of 10, if one leg is twice as long as the other?

ANSWER: SQRT(20) / 2 SQRT(20) or 2 SQRT(5) / 4 SQRT(5)
11. 
Each point on it represents a thirtyfold increase over the previous point.  Used to measure magnitude at the epicenter, what scale recorded the number 8.6 in China in 1920?

ANSWER:  RICHTER Scale

12.
THIS IS A COMPUTATION QUESTION. What is the midpoint of the line segment between the points (-1, 3) and (5,8)?

ANSWER: (2, 5 ½)
13.
In 1931, the Japanese set up a puppet kingdom, Manchukuo, to rule over what region of China?

ANSWER: MANCHURIA
14.  
In addition to writing on the life of the poet John Donne, what seventeenth century Englishman wrote the fishing compendium The Compleat Angler?

ANSWER:  Izaak WALTON
15.
Who is the current Secretary of the Treasury?

ANSWER: Paul O’NEILL

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
Complete the last words of this toast. “In her intercourse with foreign nations may she always be in the right, but our (BLANK)?”

ANSWER: COUNTRY, RIGHT OR WRONG
1B.  
What name is shared by both the head of a national Eastern Orthodox Church, and in the Old Testament, ancient Hebrew ancestors Abraham, Isaac, and Jacob?

ANSWER:  PATRIARCH
2A.
What is the superlative form of the adjective much?

ANSWER: MOST
2B.
THIS IS A COMPUTATION QUESTION. What is the slope, in lowest terms, between the points (1,-3) and (5,9)?

ANSWER: 3 (-3 – 9 = -12 and 1 – 5 = -4, this –12/-4 = 3)

3A.  
Paul Cezanne said of this artist:  “Only an eye, but my God what an eye.”  Which Impressionist painted pictures of the Seine (SEN) estuary, haystacks, and Rouen Cathedral?

ANSWER:  Claude MONET (MO-nay)

3B.
What is the name of the force which binds quarks together, and thereby holds atomic nuclei together?

ANSWER: STRONG nuclear force

4A.
THIS IS A COMPUTATION QUESTION. What is the product of the binomials 2x minus 3 and 3x minus 5?

ANSWER: SIX X SQUARED MINUS 19 X PLUS 15
4B.
What name is given to the process of paying off a debt over several months or years via installments, with interest periodically accruing on unpaid balance?

ANSWER: AMORTIZATION
5A.  Which vitamin, found in green vegetables, is involved in the production of prothrombin, needed for blood clotting?

ANSWER:  Vitamin K
5B.
What fictional county in Mississippi was made famous in the works of William Faulkner?

ANSWER: YOKNAPAWTAPHA County

6A.
A revolt by Calvinists against the Catholic Hapsburgs in the 1570s and 1580s led to the creation of what country in northwestern Europe?

ANSWER: The NETHERLANDS or HOLLAND
6B. 
The bassoon accompaniment in the slow movement to what 101st Haydn symphony makes a tick-tock sound, giving the symphony its name?

ANSWER:  “CLOCK Symphony”

7A.
Who was the Great Awakening minister that wrote the famous sermon, Sinners in the Hands on an Angry God?

ANSWER: Jonathan EDWARDS
7B.
What word is used to describe terms that have identical variables and indentical exponents?

ANSWER: LIKE terms
8A.
Jim McGreevey and Bret Schundler are running for the governorship of what state?

ANSWER: NEW JERSEY

8B.  What early stage of development in a fertilized egg follows the morula, as it changes from a solid mass of cells to a characteristic hollow sphere of cells?

ANSWER:  BLASTULA
9A.
The equation y equals k over x is an example of what kind of variation?

ANSWER: INVERSE radiation

9B.
What is the name of EITHER of the two counties on Virginia’s Eastern Shore?

ANSWER: ACCOMACK or NORTHAMPTON
10A.
What type of star changes in luminosity over a fixed period of time?

ANSWER: (Cepheid) VARIABLE star

10B.  In 1929 A.A. Milne dramatized it as Toad of Toad Hall.  What is this children’s story by Kenneth Grahame that features the aforementioned Toad, as well as Badger, Mole, and Rat?

ANSWER:  The WIND IN THE WILLOWS
Third period: 15 tossups
1. 
Robert Bunsen showed that they were caused by water underground being heated to the boiling point and hotter.  As they start to erupt, the pressure is released, thus causing what above-ground explosions, an example of which is Old Faithful?

ANSWER:  GEYSERS
2.
His 1793 Supreme Court decision in Chisholm v. Georgia led to Congress passing the 11th Amendment. Who is this man that while serving as the first Chief Justice, was sent to Great Britain to negotiate a 1794 treaty named for him?

ANSWER: John JAY
3.  
All the events in this book are recorded on June 6, 1904 in Dublin.  Advertising canvasser Leopold Bloom, his wife Molly, and scholar Stephen Dedalus represent Homeric-type figures in what stream-of-consciousness work by James Joyce?

ANSWER:  ULYSSES
4.
What was the name of the dangerous computer virus that struck on September 18?

ANSWER: NIMDA
5.  
He hit 521 home runs over 19 seasons, some of them interrupted by serving in two wars, but what baseball player is best known for being the last person to hit over .400 in one season, doing so in 1941 with the Red Sox?

ANSWER:  Ted WILLIAMS
6.
What was the name of the loose coalition of foreigners that ruled Egypt between the Middle and New Kingdoms?

ANSWER: HYKSOS
7.
This fourteen-letter word starting with “E” comes from the Latin for “out of time.” What is this word which refers to anything composed or performed on the spur of the moment and without preparation, such as a speech?

ANSWER: EXTEMPORANEOUS
8.  
One parental allele is placed in the top row, while the other is placed in the far left column, and the results can be found in the other boxes.  Geneticists use what general graphic technique to determine the statistical outcome of a genetic cross?

ANSWER:  PUNNETT SQUARE (prompt on “Hardy-Weinberg,” which uses a Punnett square) 

9. 
Which prolific composer, a British subject after 1726, wrote the opera “Rinaldo,” the “Royal Fireworks Music,” and the oratorio “Messiah?”

ANSWER:  George Frederick HANDEL
10.
THIS IS A COMPUTATION QUESTION. What is the complement of an angle that has a supplement of 112 degrees?

ANSWER: 22 degrees

11
THIS IS A COMPUTATION QUESTION. What is the simplest radical form of the fraction the square root of 8 over the square root of 5?

ANSWER: 10 SQRT(2) OVER 5
12.  
George Takei, Nichelle Nichols, James Doohan, Deforest Kelley, Leonard Nimoy, and William Shatner all starred on what 1960s television program that “boldly went where no man has gone before?”

ANSWER:  “STAR TREK”
13.
A galvanic cell is also known by what other name which comes from the Italian chemist whose name is given to the SI unit of electrical potential?

ANSWER: VOLTAIC cell

14.  
He is forced to commit suicide because he could not find one of the ingredients needed to make the antidote that changes him back from his other personality.  Protagonist of a Robert Louis Stevenson story, who is this scientist that cuts off the self-war with alter ego Mr. Hyde?

ANSWER:  Dr. JEKYLL
15.
As governor of Massachusetts, he put down a 1919 policemen strike, saying that no group had the right to strike against the public safety. This catapulted him to a Vice-Presidential nomination and when Warren Harding died in 1923, he became President. Who is this President known for being “Silent?”

ANSWER: Calvin COOLIDGE
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
Calcium oxide is, despite its name, not edible. What is this name which is also shared by a citrus fruit?

ANSWER: LIME
He was the first historian to refer to years after the birth of Christ as opposed to years of the reign of kings. Who was this 8th century English historian, the “Father of English History,” the author of the 731 treatise The Ecclesiastical History of the English Nation?

ANSWER: The Venerable BEDE
Jack Burden never finished his dissertation and never married Anne Stanton, his first love. While working for Willie Stark, an unscrupulous governor, he digs up dirt on his enemies, but after Willie is murdered by Anne’s brother Adam, he once again finds moral direction in his life. This is the plot of what novel by Robert Penn Warren?

ANSWER: ALL THE KING’S MEN
A soldier stands at attention in the left foreground, while a gypsy reclines passively in the right middle ground, in front of several trees.  Their calmness contrasts with a darkened sky due to an approaching storm in what most famous work by Giorgione (joar-jee-OH-nee), that shares its name with a romance by Shakespeare?

ANSWER:  The TEMPEST
What is the derivative of the function 3x squared minus 9x plus e?

ANSWER: 6X MINUS 9
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


